£1H 9H18H (L)

X RIG#fE 8:00~

X BEESE 9:30~ (BEBSERTHR BBE&REITEDLE)
Bd = =
1 BERRE KIBOEICEDEDEL. REBOEFOAS N
2 HLrED
3 BHLIEDIE
xrxr +
g X B FF
6 &® F 400m BAARL— A LR 148 10:00
7 B F 400m BAARL— B A LR B 148
= &
8 & F 200m /N 4 7 5 4 B A LR B 148 10:20
9 B F 200m /N 4 T S5 A  BALRE 148
= &
10 & F 200m % 7K T AL LR 148 10:35
1M1 B F 200m % 7k T AALREE 148
= &
12 & F 200m ¥ 7K T AALLREE 148 10:50
13 B F 200m K T BALRE 148
= &
14 & F 200m H©H H e BALRE 148 11:05
15 B F 200m BH 2] e RALRE 248
= &
16 & F 50m ©& 2] e RALRE 3% 11:30
17 B F 50m H H e BALRE 748
18 & F 50m /N & 27 5 4 B A LR B 148 11:45
19 B F 50m /N &% 7 5 4 BA LR B 3%
= & (50m HHEE)
20 & F 50m & 7K T BALRE 148 12:00
21 B F 50m & 7K T AALLRE 148
= E (50m /\3754)
2 & F 50m 7K T AALRE 148 12:10
23 B F 50m 7K T ALLREE 3%
= & (50m BEikE-FikE)
24 & F 400m HARL—YL— BALRE 12:30
25 B F 400m HARL—YL— BALRE
= -1
J—)LarT4iar
R PEE  KIE( ) SUR( °C)  JKE( °C)
ie3 PEE KR ) SR °C) JKE( °C)



¥2H 9H19H((H)
X =G%HE 8:00~
X BEELE 9:30~ (BEEBERERTEZ HmBEZETEEHLHE)
rxr +
i B OIE &
32 & F 400m H A e RALRE 148 10:00
33 B F 400m H 2] e RALRE 148
= -1
34 & F 200m A AN AKRL — SBALRE 148 10:20
35 B F 200m A ANARL — BALRE 148
= &
36 & F 100m H 2] e BALRRE 248 10:35
37 B F 100m H 2] e BALRE 6#f
= &
38 & F 100m /N 4 7 S5 A  BALREE 148 10:55
39 B F 100m /N 42 T S5 A4  BALRE 248
= &
40 & F 100m B ik T BALRRE 148 10:55
41 B F 100m #H ik T AALRB 248
= &
42 & F 100m F ik T A LR 148 11:05
43 B F 100m F 7K T BALRRE 248
= -0
4 *F F 400m Y L — BAALRE 148 11:20
45 B F 400m Y L — AALRE 248
= &
FxLoL—R
46 xE F 50m H =2] i RA LGRS 448 11:40
47 B F 50m H H e BALRRE 11#8
Ei = =X
1 BERK KIBEIZEDEDEL, REREBFOASM
2 R¥
3 HLrED
J—)La T3y
B SBEAE  XKIE( ) RUR( °C)  IKBR( °c)
B SBEAE XKIE( ) RUR( °C)  IKBR( °c)



